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The Analysis of Large Deformation of Pure Bending in Beams

ZHANG Xia@jin, HUANG Yan
(College of Aerospace and Material Engineering, National Univ. of Defense Technology, Changsha 410073, Chim)
Abstract: In the plane stress problem, the exact solution of stress in pure bending of beam acted by linear distributed extemal
farces is obtained. The appraximate solution of dsplacemert is obtained by Euler method. When Possm. s ratio is zero, the exact soh2
tion of displacement is obtained.
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Tabl 1 Value of xg (L=0) Tabl2 Value of yo (L=0)
/‘{ 0 P/32 P/16 3P/32 P/8 /ﬁ 0 P/32 P/16  3P/32 P/8
410 0 01470 01934 11386 11821 410 - 11014 - 11041 - 11122 - 11256 - 11440
415 0 01485 01965 11433 11885 415 - 01510 - 01536 - 01614 - 01742 - 01921
510 0 01490 01975 11451 11913 510 0 - 01024 - 01096 - 01215 - 01381
515 0 01485 01967 11442 11905 515 01509 01488 01424 0319 01173
610 0 01471 01939 11404 11861 61 0 11012 01995 01943 01857 01737
3 L=014 xo 4 L=0
Tabl3 Value of xo (L= 014) Tabl4 Value of yo (L= 014)
/ 0 P/32 P/16 3P/32 P/8 /4 0 P/32 P/16  3P/32 P/8
410 0 01470 01934 11387 11821 410 - 01974 - 11001 - 11081 - 11214 - 11397
415 0 01482 01959 11425 11874 415 - 01500 - 01525 - 01602 - 01729 - 01905
510 0 01486 01968 11440 11899 510 0 - 01024 - 01095 - 01212 - 01375
515 0 01482 01961 11433 11895 515 01519 01498 01436 01332 01189
610 0 01471 01940 11404 11862 61 0 11052 11035 01984 01899 01780
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